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PART—I / ®¡àKççI

CHILD DEVELOPMENT AND PEDAGOGY / [ÅÇ¡ [¤A¡àÅ * [ÅÛ¡oîÅºã

I/1-A 2

Directions : Answer the following questions

by selecting the correct option :

1. Development of a child is concerned
with

(A) only quantitative development

(B) only qualitative development

(C) both quantitative and
qualitative development

(D) None of the above

2. Carl Rogers is a 

(A) humanistic psychologist

(B) behaviouristic psychologist

(C) gestalt psychologist

(D) None of the above

3. The late childhood comes

(A) after adolescence

(B) before puberty

(C) before early childhood

(D) None of the above

[>ìƒ¢[ÅA¡à : Î[k¡A¡ l¡üv¡¹ [>¤¢àW¡> A¡ì¹ [>ìW¡¹ šøÅ—P¡[º¹ l¡üv¡¹

ƒà* :

1. [ÅÇ¡ [¤A¡àÅ ¤ºìt¡ ë¤àc¡àÚ

(A) Ç¡‹å³ày š[¹³àoKt¡ [¤A¡àÅ

(B) Ç¡‹å³ày P¡oKt¡ [¤A¡àÅ

(C) š[¹³àoKt¡ * P¡oKt¡ [¤A¡àÅ l¡ü®¡ÚÒü

(D) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú

2. A¡àº¢ ¹\àÎ¢ &A¡\>

(A) ³à>¤t¡à¤àƒã ³ì>à[¤ƒ

(B) "àW¡¹o¤àƒã ³ì>à[¤ƒ

(C) Î³Nøt¡à¤àƒã ³ì>à[¤ƒ

(D) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú

3. šøà”zãÚ ¤àº¸A¡àº[i¡ "àìÎ

(A) íA¡ìÅàì¹¹ šì¹

(B) ¤Ú@Î[Þê¡¹ šèì¤¢

(C) šøà=[³A¡ ¤àº¸A¡àìº¹ šèì¤¢

(D) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú
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I/1-A 3 [ P.T.O.

4. According to Kohlberg, the second
level of moral development is

(A) conventional morality

(B) transitional morality

(C) autonomous morality

(D) None of the above

5. “The personality of an adopted child
is influenced by his/her biological
parents.” This statement is

(A) true

(B) false

(C) not indentified

(D) None of the above

6. Thurstone’s theory of intelligence
is a 

(A) single-factor theory

(B) two-factor theory

(C) group factor theory

(D) None of the above

7. ‘Enuresis’ in a child of above 5 years 
is a 

(A) cognitive disorder

(B) behavioural problem

(C) normal behaviour

(D) None of the above

4. ëA¡àÒôº¤àK¢-&¹ ³t¡à>åÎàì¹ í>[t¡A¡ [¤A¡àìÅ¹
[‡t¡ãÚ ‹àš[i¡ Òº

(A) šøW¡[ºt¡ í>[t¡A¡t¡à (conventional

morality)

(B) Î}yû¡³oKt¡ í>[t¡A¡t¡à (transitional

morality)

(C) Ñ¬Åà[Ît¡ í>[t¡A¡t¡à (autonomous

morality)

(D) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú

5. ‘‘šà[ºt¡ [ÅÇ¡¹ ¤¸[v¡û¡ìŒ¹ *š¹ t¡à¹ \–µƒàt¡à
[št¡à³àt¡à¹ šø®¡à¤ ¹ìÚìá¡ú’’ [¤¤õ[t¡[i¡

(A) Ît¡¸

(B) [³=¸à

(C) [W¡[Òû¡t¡ A¡¹à ™àÚ[>

(D) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú

6. =àìÐ¡¢à>-&¹ ¤å[‡ý¡Î}yû¡à”z t¡w[i¡

(A) &A¡A¡-l¡üšàƒà> t¡w

(B) [‡-l¡üšàƒà> t¡w

(C) ƒºKt¡ l¡üšàƒà> t¡w

(D) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú

7. šòàW¡ ¤áì¹¹ *šì¹¹ [ÅÇ¡ìƒ¹ ‘³èyì¤K ‹à¹ìo
"Û¡³t¡à (enuresis)’ &A¡[i¡

(A) `¡à>³èºA¡ "Î}K[t¡

(B) Î³Î¸à³èºA¡ "àW¡¹o

(C) Ñ¬à®¡à[¤A¡ "àW¡¹o

(D) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú
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I/1-A 4

8. Noam Chomsky’s theory is primarily 
related with

(A) language development

(B) social development

(C) emotional development

(D) None of the above

9. The concept of ‘object performance’
is an important discovery of

(A) pre-operational stage

(B) formal operation stage

(C) sensory motor stage

(D) None of the above

10. Likert’s scale is an

(A) attitude scale

(B) intelligence scale

(C) ability scale

(D) None of the above

8. ë>àÚà³ W¡³ô[ÑH¹ t¡w[i¡ ³èºt¡ Î´š[A¢¡t¡

(A) ®¡àÈà¹ [¤A¡àìÅ¹ ÎìU

(B) Îà³à[\A¡ [¤A¡àìÅ¹ ÎìU

(C) šøàìÛ¡à[®¡A¡ [¤A¡àìÅ¹ ÎìU

(D) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú

9. ‘¤Ññ¹ Ñ‚à[ÚŒ’ Î´š[A¢¡t¡ ‹à¹oà ít¡[¹ ÒÚ

(A) šøàAô¡-‹à¹oà³èºA¡ Ñzì¹

(B) [>Ú³t¡à[”|A¡ Î[yû¡Út¡à¹ Ñzì¹

(C) Î}ì¤ƒ> * Îe¡àº>³èºA¡ [W¡”zì>¹ Ñzì¹

(D) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú

10. [ºA¡ài¢¡-&¹ ëÑHº[i¡ &A¡[i¡

(A) ³ì>à®¡à¤ š[¹³àšA¡ ëÑHº

(B) ¤å[‡ý¡ š[¹³àšA¡ ëÑHº

(C) Û¡³t¡à [>o¢àÚA¡ ëÑHº

(D) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú
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I/1-A 5 [ P.T.O.

11. Learning disability, which is
related to reading and language
comprehension is called

(A) autism

(B) dyscalculia

(C) dyslexia

(D) None of the above

12. Inclusion in schools primarily aims
to

(A) fulfill the educational needs of
the illiterate parents

(B) meet the need of the disabled
child at the expense of entire
class

(C) make provisions for special
category children

(D) None of the above

13. A child with hearing impairment is
an example of a child with which of
the following disabilities?

(A) Intellectual

(B) Sensory

(C) Emotional

(D) None of the above

11. ‘[ÅJ> "Û¡³t¡à’, ™à šk¡> * ®¡àÈà l¡üšº[§¡¹
ÎìU \[Øl¡t¡, t¡àìA¡ ¤ìº

(A) "[i¡\³

(B) [l¡ÎA¡¸àºAå¡[ºÚà

(C) [l¡Îìº[GÚà

(D) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú

12. [¤ƒ¸àºìÚ "”z®¢å¡[v¡û¡¹ (inclusion) ³åJ¸ l¡üì„Å¸
Òº

(A) [>¹Û¡¹ [št¡à³àt¡àìƒ¹ [ÅÛ¡àKt¡ W¡à[ÒƒàP¡[º
š[¹šè¹o A¡¹à

(B) Î³Ñz AÃ¡àÎìA¡ l¡üìšÛ¡à A¡ì¹ Ç¡‹å³ày "Û¡³
[ÅÇ¡ìƒ¹ W¡à[Òƒà¹ š[¹šè¹o A¡¹à

(C) [¤ìÅÈ ëÅøoã®å¡v¡û¡ [ÅÇ¡ìƒ¹ \>¸ ¤ì–ƒà¤Ñz
A¡¹à

(D) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú

13. Åø¤o Î´š[A¢¡t¡ [¤A¡º>Î´šÄ [ÅÇ¡¹à [>ì³—àv¡û¡
ëA¡à>ô šø[t¡¤Þê¡A¡t¡à¹ [ÅA¡à¹?

(A) ë¤ï[‡ý¡A¡

(B) Î}ì¤ƒãÚ

(C) šøàìÛ¡à[®¡A¡

(D) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú
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I/1-A 6

14. Creativity increases with

(A) age

(B) education

(C) experience

(D) None of the above

15. Giftedness is due to

(A) psychosocial factor

(B) genetic factor

(C) Both (A) and (B)

(D) None of the above

16. Gifted children are

(A) non-assertive of their needs

(B) independent in their judgements

(C) independent of teachers

(D) None of the above

14. Îõ\>Åãºt¡à ¤àìØl¡

(A) ¤ÚìÎ¹ ÎìU

(B) [ÅÛ¡à¹ ÎìU

(C) "[®¡`¡t¡à¹ ÎìU

(D) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú

15. l¡üÄt¡¤å[‡ý¡ Ò*Úà¹ A¡à¹o Òº

(A) ³ì>àÎà³à[\A¡ l¡üšàƒà>

(B) ¤}ÅKt¡ Kk¡>

(C) (A) &¤} (B) ƒåìi¡àÒü

(D) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú

16. l¡üÄt¡¤å[‡ý¡Î´šÄ [ÅÇ¡¹à

(A) t¡àìƒ¹ W¡à[Òƒà Î´šìA¢¡ ƒõØn¡ šøt¡¸Úã >Ú

(B) t¡àìƒ¹ [¤W¡à¹-¤å[‡ý¡ìt¡ Ñ¬à‹ã>

(C) [ÅÛ¡ìA¡¹ "‹ã> >Ú

(D) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú
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I/1-A 7 [ P.T.O.

17. Persons having below 70 IQ are
called

(A) intellectually superior

(B) intellectually average

(C) mentally retarded

(D) None of the above

18. Education of socially and
economically disadvantaged children
deserves

(A) special syllabus

(B) supportive governmental policy

(C) to be pitied by the teachers

(D) None of the above

19. Which of the following is an example 
of intellectual disability?

(A) Mental retardation

(B) Dyslexia

(C) Attention deficit hyperactive
syndrome

(D) None of the above

17. 70-&¹ [>ìW¡ ¤å‡ý¡¸S¡Î´šÄ ¤¸[v¡û¡ìƒ¹ ¤ºà ÒÚ

(A) l¡üÄt¡ ¤å[‡ý¡Î´šÄ

(B) Îà‹à¹o ¤å[‡ý¡Î´šÄ

(C) ³à>[ÎA¡ šø[t¡¤Þê¡ã

(D) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú

18. Îà³à[\A¡ * "à[=¢A¡®¡àì¤ [š[áìÚ šØl¡à [ÅÇ¡ìƒ¹
šøìÚà\>

(A) [¤ìÅÈ šàk¡¸yû¡³

(B) ÎÒàÚA¡ Î¹A¡à[¹ >ã[t¡

(C) [ÅÛ¡A¡ìƒ¹ ƒÚà

(D) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú

19. [>ìW¡¹ ëA¡à>[i¡ ¤å[‡ý¡Kt¡ "Û¡³t¡à¹ &A¡[i¡
l¡üƒàÒ¹o?

(A) ³à>[ÎA¡ šø[t¡¤Þê¡A¡t¡à

(B) [l¡Îìº[GÚà

(C) "¸àìi¡>Å> ël¡[ó¡[Îi¡ ÒàÒüšà¹"¸àA¡[i¡®¡
[Î>ìl¡öà³

(D) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú
https://www.freshersnow.com/previous-year-question-papers/



I/1-A 8

20. The creativity of the child should
_____ by the teacher in school.

(A) not be encouraged

(B) be encouraged

(C) be dealt neutrally

(D) None of the above

21. Thinking is a/an

(A) cognitive process

(B) affective process

(C) conative process

(D) None of the above

22. A child writes with left hand and is
comfortable to do so. He or she
should be

(A) discouraged

(B) allowed his/her preference

(C) sent to seek medical help

(D) None of the above

23. If a child becomes severely afraid
of school environment, he or she will 
be gradually

(A) regular

(B) punctual

(C) truant

(D) None of the above

20. [¤ƒ¸àºìÚ [ÅÇ¡¹ Îõ\>Åãºt¡àìA¡ [ÅÛ¡ìA¡¹¡ú

(A) l¡ü;Îà[Òt¡ A¡¹à l¡ü[W¡t¡ >Ú

(B) l¡ü;Îà[Òt¡ A¡¹à l¡ü[W¡t¡

(C) [>¹ìšÛ¡®¡àì¤ [¤W¡à¹ A¡¹à l¡ü[W¡t¡

(D) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú

21. [W¡”z> Òº &A¡[i¡

(A) `¡à>³èºA¡ šø[yû¡Úà

(B) šøàìÛ¡à[®¡A¡ šø[yû¡Úà

(C) A¡³¢³èºA¡ šø[yû¡Úà

(D) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú

22. &A¡[i¡ [ÅÇ¡ ¤òà Òàìt¡ ëºìJ &¤} &ìt¡Òü ëÎ
Îå[¤‹à ë¤à‹ A¡ì¹ &ìÛ¡ìy

(A) t¡àìA¡ ¤òà Òàìt¡ [ºJìt¡ [>¹ç¡;Îà[Òt¡ A¡¹à
l¡ü[W¡t¡

(B) t¡à¹ ³ì>à>Ú>ìA¡ ">åì³àƒ> A¡¹à l¡ü[W¡t¡

(C) t¡àìA¡ [W¡[A¡;Îà¹ \>¸ šàk¡àì>à l¡ü[W¡t¡

(D) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú

23. &A¡[i¡ [ÅÇ¡ ™[ƒ [¤ƒ¸àºÚ š[¹ì¤ìÅ šøW¡r¡ ®¡Ú
šàÚ, t¡ì¤ ëÎ yû¡³Å ÒìÚ l¡ük¡ì¤

(A) [>Ú³à>å¤t¢¡ã

(B) Î³Úà>å¤t¢¡ã

(C) [¤ƒ¸àºÚ šºàÚ>š¹

(D) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú
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I/1-A 9 [ P.T.O.

24. A pupil frequently shows severe
emotional outburst in class. The
teacher will

(A) try to understand the causes of
this behaviour

(B) allow him to perform this
behaviour again and again

(C) instruct him to go outside the
class

(D) None of the above

25. Which of the following statements is
not correct as a characteristic of
motivation?

(A) Motivation satisfies the person’s 
biological needs.

(B) It helps a person to achieve a
goal.

(C) Motivation makes an individual
inactive.

(D) None of the above

26. The habit of smoking in student can
not be the result of

(A) modelling

(B) inoculation

(C) peer pressure

(D) None of the above

24. &A¡[i¡ áày šøàÚÒü AÃ¡àìÎ t¡ã¤ø šøìÛ¡à®¡ šøA¡àÅ A¡ì¹ 
=àìA¡¡ú &ìÛ¡ìy [ÅÛ¡A¡

(A) t¡à¹ &Òü "àW¡¹ìo¹ A¡à¹o [>o¢Ú A¡¹à¹ ëW¡Ê¡à
A¡¹ì¤>

(B) t¡àìA¡ &®¡àì¤Òü ¤à¹¤à¹ "àW¡¹o[i¡ šøA¡àÅ
A¡¹ìt¡ ëƒì¤>

(C) t¡àìA¡ AÃ¡àìÎ¹ ¤àÒüì¹ W¡ìº ë™ìt¡ [>ìƒ¢Å
ëƒì¤>

(D) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú

25. ëšøÈoà¹ í¤[ÅÊ¡¸ [ÒÎàì¤ [>ì³—àv¡û¡ ëA¡à>ô [¤¤õ[t¡[i¡
Î[k¡A¡ >Ú?

(A) ëšøÈoà ¤¸[v¡û¡¹ í\[¤A¡ W¡à[Òƒà šè¹ìo ÎàÒà™¸
A¡ì¹¡ú

(B) ëšøÈoà ¤¸[v¡û¡ìA¡ ºìÛ¡¸¹ [ƒìA¡ &[KìÚ ë™ìt¡ 
ÎàÒà™¸ A¡ì¹ú

(C) ëšøÈoà ¤¸[v¡û¡ìA¡ A¡ì³¢àƒ¸³Òã> A¡ì¹ ëƒÚ¡ú

(D) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú

26. [ÅÛ¡à=¢ã¹ ‹è³šàì>¹ Ñ¬®¡à¤ A¡Jì>àÒü &¹ ó¡º Òìt¡ 
šàì¹ >à

(A) >A¡º A¡¹à (modelling)

(B) [i¡A¡àA¡¹o (inoculation)

(C) ¤Þêå¡ìƒ¹ W¡àš

(D) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú
https://www.freshersnow.com/previous-year-question-papers/



I/1-A 10

27. If a student frequently remains
inattentive in class, he or she should 
be

(A) punished hard

(B) expelled from school

(C) advised to stop reading in
school

(D) None of the above

28. Which of the following statements is
incorrect?

(A) Children’s emotions are
prolonged.

(B) Children’s emotions are intense.

(C) Children’s emotions are
transitory.

(D) Children’s emotions are brief.

29. Punishment to the student is

(A) always essential for proper
education

(B) occasionally necessary for
proper education

(C) completely ineffective for proper
education

(D) None of the above

30. The responsibility of a counsellor is
to

(A) advise the counselee

(B) make decision for the counselee

(C) set up goals by the help of
discussion with the counselee

(D) None of the above

27. AÃ¡àìÎ šøàÚÒü "³ì>àì™àKã =àA¡ìº áày/áàyã[i¡ìA¡ 

(A) A¡ìk¡à¹ Åà[Ñz ëƒ*Úà l¡ü[W¡t¡

(B) [¤ƒ¸àºÚ ë=ìA¡ ¤[ÒÍHà¹ A¡¹à l¡ü[W¡t¡

(C) [¤ƒ¸àºìÚ šØl¡àÇ¡>à A¡¹à ¤Þê¡ A¡ì¹ [ƒìt¡
l¡üšìƒÅ ëƒ*Úà l¡ü[W¡t¡

(D) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú

28. [>ì³—àv¡û¡ [¤¤õ[t¡P¡[º¹ ³ì‹¸ ëA¡à>[i¡ ®å¡º?

(A) [ÅÇ¡ìƒ¹ "àì¤K ƒãQ¢Ñ‚àÚã¡ú

(B) [ÅÇ¡ìƒ¹ "àì¤K t¡ã¤øú

(C) [ÅÇ¡ìƒ¹ "àì¤K Û¡oÑ‚àÚãú

(D) [ÅÇ¡ìƒ¹ "àì¤K Î}[Û¡œ¡ú

29. [ÅÛ¡à=¢ãìA¡ Åà[Ñz ëƒ*Úà

(A) Î[k¡A¡ [ÅÛ¡à¹ \>¸ Î¤Î³ÚÒü ƒ¹A¡à¹

(B) Î[k¡A¡ [ÅÛ¡à¹ \>¸ ³àìc¡ ³àìc¡ ƒ¹A¡à¹

(C) Î[k¡A¡ [ÅÛ¡à¹ \>¸ &ìA¡¤àì¹Òü [>Í£¡º

(D) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú

30. š¹à³Å¢ƒàt¡à¹ ƒà[ÚŒ Òº

(A) š¹à³Å¢NøÒãt¡àìA¡ l¡üšìƒÅ ëƒ*Úà

(B) š¹à³Å¢NøÒãt¡à [A¡ [Î‡ý¡à”z ë>ì¤ t¡à [k¡A¡ A¡ì¹ 
ëƒ*Úà

(C) š¹à³Å¢NøÒãt¡à¹ ÎìU "àìºàW¡>àyû¡ì³ ºÛ¡¸
[>‹¢à¹o A¡¹à

(D) l¡üšì¹¹ ëA¡àì>à[i¡Òü >Ú
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PART—II : Language—I
ENGLISH

Directions : Read the passage given

below and answer the questions (Q. Nos.

31 to 35) that follow by selecting the correct 

option.

Glands manufacture and secrete necessary 

substances. Exocrine glands secrete their

products through ducts, but endocrine

glands, or ductless glands, release their

products directly into the bloodstream.

One important endocrine gland is the

thyroid gland. It is in the neck and has two

lobes, one on each side of the windpipe.

The thyroid gland collects iodine from the

blood and produces thyroxine, an

important hormone, which it stores in an

inactive form.When thyroxine is needed by

the body, the thyroid gland secretes it

directly from the bloodstream. Thyroxine is

combined in the body cells with other

chemicals and affects many functions of

the body.

The thyroid gland may be underactive or

overactive, resulting in problems. An

underactive thyroid causes

hypothyroidism, while an overactive one

causes hyperthyroidism. The former

problem, called myxedema in adults and

cretinism in children, causes the growth

process to slow down. A cretin’s body and

mind do not grow to their full potential.

Hyperthyroidism, on the other hand,

results in extreme nervousness, an

increase in heart action, and other

problems.

Either hypothyroidism or hyperthyroidism

may result in goiter, or an enlarged thyroid

gland. A goiter will appear when the body is 

not getting enough iodine. Goiter is less

common today, since most people use

iodized salt.

31. A cretin is

(A) a child with hyperthyroidism

(B) an adult with an

underperforming thyroid gland

(C) a child with hypothyroidism

(D) an extremely irritable child

32. A goiter is

(A) a person with myxedema

(B) a swollen thyroid gland

(C) an underactive thyroid gland

(D) a chemical

33. The word ‘secrete’ is closest in

meaning to

(A) indiscernible

(B) emit

(C) display

(D) absorb

34. Which of the following is a probable

result of myxedema?

(A) Sluggishness

(B) Hyperactivity

(C) Overproduction of thyroxine

(D) Perspiration

35. The main idea of the passage is

(A) how glands work

(B) the function and illnesses of the

thyroid gland

(C) secretion with and without

glands

(D) the illnesses of an overactive

thyroid gland
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Directions : Question Nos. 36 to 40 are

incomplete sentences. Beneath each

sentence, you will see four words or

phrases, marked (A), (B), (C) and (D).

Choose the one word or phrase that best

completes the sentence.

36. Here _____ notebook and report that

I promised you last week.

(A) is the

(B) are the

(C) was the

(D) has been a

37. Cuba is _____ sugar-growing areas

in the world.

(A) one of the larger

(B) one of largest

(C) one of the largest

(D) largest

38. I wish you would tell me _____.

(A) who is being lived next door

(B) who does live in the next door

(C) who lives next door

(D) who next door was living

39. There has not been a great response

to the sale. _____?

(A) Does there

(B) Hasn’t there

(C) Hasn’t it

(D) Has there

40. The committee has met and _____.

(A) they have reached a decision

(B) it has formulated themselves

some opinions

(C) its decision was reached at

(D) it has reached a decision

Directions : (Q. Nos. 41 to 45) Fill in the

blanks with appropriate alternatives given

below :

41. Teacher should not give corporal

punishment to learners because

_____.

(A) it makes parents very angry

(B) it is risky

(C) it creates stress and fear in

learners

(D) it is only an emotional release

for the teachers

42. Remedial teaching as part of

formative assessment means _____.

(A) extracoaching by parents

(B) teaching for gifted students

(C) diagnosing and addressing gaps 

in learning

(D) teaching beyond the textbook

43. Listening, speaking, reading and

writing are _____.

(A) motor skills

(B) verbal skills

(C) formal skills

(D) language skills

I/1-A 12
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44. The teacher gives the meaning of the 

difficult words in the pupil’s mother

tongue. The principle involved in it

is _____.

(A) direct method

(B) indirect method

(C) bilingual method

(D) grammar-translation method

45. Communicative language teaching is 

concerned with _____.

(A) improving receptive and

productive skills

(B) improving vocabulary

(C) enhancing the writing skills

(D) encouraging group discussion

46. What is the synonym of ‘stubborn’?

(A) Easy

(B) Obstinate

(C) Willing

(D) Smart

Directions : (Q. Nos. 47 to 50) Fill in the

blanks taking the appropriate alternatives

from among the given options in each of the 

following :

47. Have you heard the _____ news?

(A) late

(B) later

(C) latest

(D) latter

48. It is a matter of gratification for me

that he has turned a new leaf.

‘Turned a new leaf’ means _____.

(A) begun a different mode of life

(B) started using his intelligence

(C) proved to be a worthy person on 

his job

(D) accepted the new job that was

offered to him

49. One of the professor’s greatest

attributes is _____.

(A) when he gives lectures

(B) how in the manner that he

lectures

(C) the way to give lectures

(D) his ability to lecture

50. Neither Jane nor her brothers _____

a consent form for tomorrow’s field

trip.

(A) need

(B) needs

(C) is needing

(D) has need
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Directions : Read the poem given

below and answer the questions (Q. Nos.

51 to 54) that follow by selecting the correct 

option.

If you can dream—and not make dreams

               your master;

If you can think—and not make thoughts

                  your aim;

If you can meet with Triumph and Disaster

And treat those two impostors just the same;

If you can bear the hear the truth

              you’ve spoken

Twisted by knaves to make a trap for fools,

Or watch the things you gave your life

                to, broken,

And stoop and build ’em up with

              worn-out tools:

51. The rhyming scheme of the poem is

(A) abab cdcd

(B) abba cd dc

(C) abab ab ab

(D) None of the above

52. The word ‘impostor’ means

(A) one who is intelligent

(B) one who cheers up our hearts

(C) one who deceives

(D) one who is greedy

53. The poet tells us how we should act

in

(A) a difficult situation

(B) a pleasant situation

(C) an embarassing situation

(D) None of the above

54. The truth that we have spoken will

be distorted by

(A) our friends

(B) politicians

(C) dishonest people

(D) the kings

I/1-A 14
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Directions : (Q. Nos. 55 to 60) Fill in the

blanks taking the appropriate alternatives

from among the given options in each of the 

following :

55. Grammar should be taught by _____.

(A) asking students to learn rules

(B) making learners do written

assignments

(C) giving clear explanations

(D) enabling practice in context

56. The method of teaching English

adopted at present in school

curriculum is _____.

(A) formative correlational

approach

(B) functional communicative

approach

(C) function corrective approach

(D) figurative comprehensive

approach

57. Samir did not do well in the class

because _____.

(A) he studied bad

(B) he was not good studywise

(C) he was a badly student

(D) he failed to study properly

58. Those students do not like to read

novels, _____ textbooks.

(A) in any case

(B) forgetting about

(C) leaving out of the question

(D) much less

59. His comment _____ the speech was

very apt.

(A) in

(B) on

(C) of

(D) by

60. The antonym of ‘frugal’ is _____.

(A) gaudy

(B) generous

(C) extravagant

(D) charitable
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®¡àK—III : ®¡àÈà—II

¤à}ºà

[>ìƒ¢[ÅA¡à : [>³—[º[Jt¡ šƒ¸à}Åiå¡Aå¡ ®¡àìºà A¡ì¹ šìØl¡ 61 >}
ë=ìA¡ 64 >} šøìÅ—¹ l¡üv¡¹ A¡¹ìt¡ Òì¤¡ú

‘‘ëW¡ï[ƒìA¡ l¡ü[k¡ìt¡[áº ³‹å¹ ¹à[Koã

\ìº Ñ‚ìº >®¡Ñ‚ìº¡ú Îå–ƒ¹ A¡à[Ò>ã

ëA¡ ë™> ¹[W¡ìt¡[áº áàÚàì¹ï‰A¡ì¹,

"¹ìo¸¹ Îå[œ¡ "à¹ šàt¡à¹ ³³¢ì¹,

¤Î”z[ƒì>¹ A¡t¡ Ñš–ƒì> A¡´šì>

[>Å«àìÎ l¡üYàìÎ ®¡àìÈ "à®¡àìÎ P¡gì>

W¡³ìA¡ c¡ºìA¡¡ú’’

61. &Òü "}ìÅ ‘>®¡Ñ‚ìº’ Å¦[i¡¹ [¤š¹ãt¡ "=¢ Òº

(A) "àA¡àìÅ

(B) ¤àt¡àìÎ

(C) šàt¡àìº

(D) W¡à¹[ƒìA¡

62. &Òü "}ìÅ ‘³‹å¹’ šƒ[i¡ Òº

(A) [¤ìÅÈ¸šƒ

(B) [¤ìÅÈo šƒ

(C) Î¤¢>à³ šƒ

(D) [yû¡Úàšƒ

63. &Òü "}ìÅ ‘l¡üYàÎ’ Å¦[i¡¹ Î[Þê¡[¤ìZáƒ A¡¹ìº
Òì¤

(A) l¡ü; + áàÎ

(B) l¡ü; + YàÎ

(C) l¡ü; + Å«àÎ

(D) l¡üáô + á¬àÎ¡

64. &Òü "}ìÅ šàÅàšà[Å ƒå[i¡ [¤š¹ãt¡ "ì=¢¹ Å¦
¹ìÚìá, Å¦ ƒå[i¡ Òº

(A) \ìº Ñ‚ìº

(B) Ñš–ƒì> A¡´šì>

(C) "à®¡àìÎ P¡gì>

(D) [>Å«àìÎ l¡üYàìÎ
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[>ìƒ¢[ÅA¡à : [>³—[º[Jt¡ šøÅ—P¡[º¹ Î[k¡A¡ l¡üv¡¹[i¡ [>¤¢àW¡> A¡ì¹
65 >} ë=ìA¡ 90 >} šøìÅ—¹ l¡üv¡¹ A¡¹ìt¡ Òì¤¡ú

65. ‘áì–ƒ¹ \àƒåA¡¹’ ¤ºà ÒÚ

(A) ¹¤ã–ƒø>à= k¡àAå¡¹ìA¡

(B) A¡à\ã >\¹ç¡º ÒüÎºà³ìA¡

(C) Îìt¡¸–ƒø>à= ƒv¡ìA¡

(D) ÎåAå¡³à¹ ¹àÚìA¡

66. ‘"àì¤àº t¡àì¤àº’ A¡[¤t¡à[i¡ [ºìJìá>

(A) ¹\>ãA¡à”z ëÎ>

(B) Îå®¡àÈ ³åìJàšà‹¸àÚ

(C) l¡üìš–ƒø[A¡ìÅà¹ ¹àÚìW¡ï‹å¹ã

(D) ÎåAå¡³à¹ ¹àÚ

67. ‘ëÑ•Òºt¡à’ l¡üš>¸àÎ[i¡ [ºìJìá>

(A) ¹ì³ÅW¡–ƒø ƒv¡

(B) ³à>Aå¡³à¹ã ¤Îå

(C) "¤>ã–ƒø>à= k¡àAå¡¹

(D) Ñ¬o¢Aå¡³à¹ã ëƒ¤ã

68. ‘‘& [¤Å«ìA¡ & [ÅÇ¡¹ ¤àÎì™àK¸ A¡ì¹ ™à¤ "à[³—

>¤\àt¡ìA¡¹ A¡àìá & "à³à¹ ƒõØn¡ "UãA¡à¹¡ú’’

&Òü ƒå[i¡ š}[v¡û¡ ¹ìÚìá A¡[¤ ÎåA¡à”z ®¡j¡àW¡àì™¢¹

(A) ‘ë¤à‹>’ A¡[¤t¡àÚ

(B) ‘áàØl¡šy’ A¡[¤t¡àÚ

(C) ‘ëƒÅºàÒü A¡à[k¡’ A¡[¤t¡àÚ

(D) ‘[šøÚt¡³àÎå’ A¡[¤t¡àÚ

69. š[ÆW¡³¤à}ºà¹ Aõ¡Ì¡>Kì¹ \–µNøÒo A¡ì¹[áìº>

(A) [‡ì\–ƒøºàº ¹àÚ

(B) ³àÒüìA¡º ³å‹åÎèƒ> ƒv¡

(C) A¡à\ã >\¹ç¡º ÒüÎºà³

(D) ÎåAå¡³à¹ ¹àÚ

70. ¹¤ã–ƒø>àì=¹ "àƒìÅ¢ [>ì\¹ A¡à¤¸-t¡¹oãìA¡
[>Ú[”|t¡ A¡ì¹ ëA¡à>ô A¡[¤ ¹¤ã–ƒøà>åÎà¹ã
ÒìÚ[áìº>?

(A) ÎåA¡à”z ®¡j¡àW¡à™¢

(B) Îå®¡àÈ ³åìJàšà‹¸àÚ

(C) ™t¡ã–ƒøì³àÒ> ¤àKW¡ã

(D) [‡ì\–ƒøºàº ¹àÚ
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71. >ài¡¸A¡à¹ [‡ì\–ƒøºàº ¹àìÚ¹ ë™ >ài¡ìA¡ Î¹àÎ[¹
¹¤ã–ƒø-[¤ì¹à[‹t¡à ¹ìÚìá, ëÎ[i¡ Òº

(A) ‘šøàÚ[ÆW¡v¡’

(B) ‘"à>–ƒ-[¤ƒàÚ’

(C) ‘&A¡Qì¹’

(D) ‘š¹šàì¹’

72. š[ÆW¡³¤U ¤à}ºà "àA¡àìƒ[³ KõÒãt¡ ¤à>à>[¤[‹
">åÎàì¹ [>³—[º[Jt¡ Å¦P¡[º¹ ³ì‹¸ Ç¡‡ý¡ ¤à>à>[i¡ 
Òº

(A) "àÅãÈ

(B) "à[ÅÈ

(C) "à[ÅÎô

(D) "àÅãÎô

73. [>ìW¡¹ ë™ Å¦[i¡ Î[k¡A¡®¡àì¤ ëºJà "àìá, ëÎ[i¡
Òº

(A) ">å³t¡¸à>åÎàì¹

(B) ">å³t¡¸>åÎàì¹

(C) ">å³v¡¸à>åÎàì¹

(D) ">å³v¡¸>åÎàì¹

74. ‘ëA¡àÈ’ Åì¦¹ [¤A¡¿ ¤à>à> [ÒìÎì¤ š[ÆW¡³¤U
¤à}ºà "àA¡àìƒ[³ìt¡ KõÒãt¡ ÒìÚìá

(A) ëA¡àÅ

(B) ëA¡àÎ

(C) ëA¡àÅô

(D) ëA¡àÎô

75. ¤à}ºà ³à>¸ W¡[ºt¡®¡àÈà KìØl¡ l¡üìk¡ìá ë™ l¡üš®¡àÈà¹ 
¹ê¡ìš¹ l¡üš¹ [®¡[v¡ A¡ì¹, ëÎ[i¡ Òº

(A) ¤Uàºã l¡üš®¡àÈà

(B) A¡à³¹ê¡šã l¡üš®¡àÈà

(C) ¤ì¹–ƒøã l¡üš®¡àÈà

(D) ¹àØn¡ã l¡üš®¡àÈà

76. ‘Îà‹å®¡àÈà’ A¡=à[i¡ šø=³ ¤¸¤Òà¹ A¡ì¹>

(A) l¡üÒü[ºÚà³ ëA¡[¹

(B) #Å«¹W¡–ƒø [¤ƒ¸àÎàK¹

(C) ¹à\à ¹à³ì³àÒ> ¹àÚ

(D) š¸à¹ãWò¡àƒ [³y

77. ¤à}ºà Îà[Òìt¡¸ W¡[ºt¡ Kìƒ¸¹ ÎšìÛ¡ ¤¸àšA¡
Îà[Ò[t¡¸A¡ "àì–ƒàº> Ç¡¹ç¡ A¡ì¹>

(A) ¹¤ã–ƒø>à= k¡àAå¡¹

(B) šø³= ëW¡ï‹å¹ã

(C) [¤®è¡[t¡®è¡Èo ¤ì–ƒ¸àšà‹¸àÚ

(D) Òü[–ƒ¹à ëƒ¤ãìW¡ï‹å¹àoã

78. ‘Åô’, ‘Èô’ &¤} ‘Îô’—&Òü [t¡>[i¡ ‹ÿ¤[>ìA¡ ¤ºà
ÒÚ

(A) t¡àØl¡>\àt¡ ‹ÿ¤[>

(B) t¡¹º Ñ¬¹‹ÿ¤[>

(C) [ÅÎô ‹ÿ¤[>

(D) šà[Å«¢A¡ ‹ÿ¤[>

79. l¡üZW¡à¹oÑ‚à> ">å™àÚã ‘Kô’ * ‘ƒô’ ‹ÿ¤[>ìA¡ ¤ºà ÒÚ

(A) "¿šøào ¤o¢

(B) ³Òàšøào ¤o¢

(C) l¡üÍ¶¤o¢

(D) "ìQàÈ¤o¢

80. ‘Aô¡’ ë=ìA¡ ‘³ô’ š™¢”z šò[W¡Å[i¡ ¤¸g>‹ÿ¤[>ìA¡
Îà‹à¹ot¡ ¤ºà ÒÚ

(A) l¡üÍ¶‹ÿ¤[>

(B) "”z@Ñ‚‹ÿ¤[>

(C) ÑšÅ¢‹ÿ¤[>

(D) šà[Å«¢A¡ ‹ÿ¤[>
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81. ‘‹ÿ¤[>’ Òº ëA¡àì>à ®¡àÈà¹

(A) Ûå¡‰t¡³ l¡üšàƒà>

(B) ¤õÒv¡³ l¡üšàƒà>

(C) ¤õÒ; l¡üšàƒà>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

82. ¤àAô¡ + Òü[–ƒøÚ—Î[Þê¡Kt¡ [>Úì³ Òì¤

(A) ¤àKã[–ƒøÚ

(B) ¤àA¡ã[–ƒøÚ

(C) ¤à[K[–ƒøÚ

(D) ¤àKã–ƒøãÚ

83. ‘¤ãt¡Åø‡ý¡’ Åì¦¹ [¤š¹ãt¡ A¡=à[i¡ Òº

(A) Åø‡ý¡à Òà[¹ìÚìá &³>

(B) Åø‡ý¡à¹ [¤š¹ãìt¡ &³>

(C) Åø‡ý¡à¹ šø[t¡Aè¡ìº &³>

(D) Åø‡ý¡à¹ Îàì= &³>

84. ë™ Î³Ñz šƒ [³ìº Î³àÎ K[k¡t¡ ÒÚ t¡àìƒ¹
šøìt¡¸A¡[i¡ šƒìA¡ ¤ºà ÒÚ

(A) Î³Ñzšƒ

(B) šè¤¢šƒ

(C) l¡üv¡¹šƒ

(D) Î³Î¸³à> šƒ

85. W¡–ƒø ëÅJì¹ ™à¹ > W¡–ƒøìÅJ¹—&[i¡ &A¡[i¡

(A) ¤×¤øã[Ò Î³àìÎ¹ l¡üƒàÒ¹o

(B) ‡–‡ Î³àìÎ¹ l¡üƒàÒ¹o

(C) t¡;šå¹ç¡È Î³àìÎ¹ l¡üƒàÒ¹o

(D) [>t¡¸ Î³àìÎ¹ l¡üƒàÒ¹o

86. ‘[Åì¹ Î}yû¡à[”z’ &Òü ¤àKô‹à¹à[i¡¹ "=¢

(A) Î}yû¡à[”z¹ "àK³>

(B) [¤šƒ ³åv¡û¡

(C) "àÎÄ [¤šƒ

(D) ³à=àÚ ë¤àc¡à

87. ëáìº[i¡ Òü}ì¹[\ìt¡ Aò¡àW¡à¡ú

[>ìW¡ ƒàK ëƒ*Úà Å¦[i¡ ëA¡à>ô A¡à¹A¡?

(A) "[‹A¡¹o A¡à¹A¡

(B) "šàƒà> A¡à¹A¡

(C) A¡tõ¢¡A¡à¹A¡

(D) [>[³v¡A¡à¹A¡

88. [ÅÛ¡à=¢ã¹ ®¡àÈà-ëA¡ïÅìº¹ [¤A¡àÅÎà‹> Î´±¤ Òì¤, 
™[ƒ ëÎ

(A) ®¡àìºà®¡àì¤ ®¡àÈà ëÅàì> &¤} ¤ºà¹ ëW¡Ê¡à
A¡ì¹

(B) ®¡àìºà®¡àì¤ ëºJà * šØl¡àÚ ³ì>àì™àKã ÒÚ

(C) ëÅà>à, ¤ºà, ëºJà * šØl¡àÚ "³ì>àì™àKã
>à ÒÚ

(D) ®¡àìºà®¡àì¤ ëÅà>à * šØl¡à¹ ëW¡Ê¡à A¡ì¹

89. [ÅÛ¡A¡ * [ÅÛ¡à=¢ã¹ ³‹å¹ Î´šA¢¡ KìØl¡ *k¡à¹
ëšáì> šø‹à> A¡à¹o[i¡ Òº

(A) [ÅÛ¡A¡ [ÅÛ¡à=¢ãìA¡ ®¡àìºà®¡àì¤ šØl¡àì¤>

(B) [ÅÛ¡A¡ [ÅÛ¡à=¢ãìA¡ š¹ãÛ¡à³èºA¡®¡àì¤
ëƒJàì¤> &¤} ë¤àc¡àì¤>

(C) [ÅÛ¡A¡ [ÅÛ¡à=¢ãìA¡ l¡ü;Îà[Òt¡ A¡¹ì¤>

(D) l¡üšì¹¹ Î¤P¡[º

90. ³àtõ¡®¡àÈà¹ ³à‹¸ì³ [ÅÛ¡ìo¹ ºÛ¡¸ Òº

(A) ">¸ ®¡àÈà¹ tå¡º>àÚ ³àtõ¡®¡àÈàìA¡ ëÅøË¡ ¤ìº
¤å[c¡ìÚ ëƒ*Úà

(B) ">¸ ®¡àÈà¹ šø[t¡ "Åø‡ý¡à¹ ®¡à¤ \à[KìÚ
ët¡àºà

(C) ³àtõ¡®¡àÈà¹ [¤A¡àÅ * Î³õ[‡ý¡¹ š= ÎåK³ A¡¹à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú¡

I/1-A 19 [ P.T.O.
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PART—IV / ®¡àKççIV

MATHEMATICS / K[ot¡

[>ìƒ¢[ÅA¡à : Î[k¡A¡ l¡üv¡¹ [>¤¢àW¡> A¡ì¹ >ãìW¡¹ šøÅ—P¡ìºà¹

l¡üv¡¹ ƒà*¡ú

91. ƒå[i¡ Î¹ºì¹Jà š¹Ñš¹ìA¡ ëáƒ A¡¹àÚ l¡ü;šÄ
W¡à¹[i¡ ëA¡àìo¹ ë™ ëA¡àì>à [t¡>[i¡ ëA¡àìo¹ Î³[Ê¡
290º Òìº, ëA¡ào W¡à¹[i¡¹ š[¹³àš Òì¤

(A) 120º, 60º, 120º, 60º

(B) 110º, 70º, 110º, 70º

(C) 100º, 80º, 100º, 80º

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

92. DABC-&¹ ëÛ¡ìy Ð + Ð =A B 135º &¤} 
Ð + Ð =C B2 180º Òìº, >ãìW¡¹
Î´šA¢¡P¡ìºà¹ ëA¡à>[i¡ Ît¡¸ Òì¤?

(A) CA AB>

(B) CA AB=

(C) CA AB<

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

93. šøƒv¡ [W¡ìy AB CD|| , Ð =OAB 120º &¤} 
Ð =OCD 140º Òìº, x-&¹ ³à> Òì¤

(A) 60º

(B) 70º

(C) 100º

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà

I/1-A 20

Directions : Answer the following questions

by selecting the correct option.

91. Two straight lines intersect at a
point. If the sum of the measures of
any three angles of the four angles
produced is 290º, then the
measures of the four angles are

(A) 120º, 60º, 120º, 60º

(B) 110º, 70º, 110º, 70º

(C) 100º, 80º, 100º, 80º

(D) None of the above

92. In DABC , Ð + Ð =A B 135º and 
Ð + Ð =C B2 180º. Then which one of 
the following relations is true?

(A) CA AB>

(B) CA AB=

(C) CA AB<

(D) None of the above

93. In the following figure, AB CD|| , 
Ð =OAB 120º and Ð =OCD 140º.
Then the value of x is

(A) 60º

(B) 70º

(C) 100º

(D) None of the above

x

120º

140º

O

A

C

B

D

x

120º

140º

O

A

C

B

D

https://www.freshersnow.com/previous-year-question-papers/



94. &A¡[i¡ Q>ìA¡¹ ‹à¹P¡ìºà¹ Î³[Ê¡ 24 ëÎ.[³.
Òìº, Q>A¡[i¡¹ Q>ó¡ìº¹ š[¹³àš >ãìW¡¹ ëA¡à>[i¡
Òì¤?

(A) 27 Q> ëÎ.[³.

(B) 8 Q> ëÎ.[³.

(C) 64 Q> ëÎ.[³.

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

95. h [³i¡à¹ ƒãQ¢ &¤} r  [³i¡à¹ ¤¸àìÎ¹ &A¡[i¡ [>ì¹i¡
ëºïÒƒr¡ìA¡ K[ºìÚ r  [³i¡à¹ ¤¸àìÎ¹ Î³à> áÚ[i¡
[>ì¹i¡ ëºïÒìKàºA¡ ít¡¹ã A¡¹à Òìº, >ãìW¡¹
Î´šA¢¡P¡ìºà¹ ëA¡à>[i¡ Î[k¡A¡?

(A) h r= 2

(B) h r= 4

(C) h r= 3

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

96. &A¡Òü ¤¸àÎà‹¢[¤[ÅÊ¡ &A¡[i¡ "‹¢ìKàºA¡ &¤} &A¡[i¡
ëKàºìA¡¹ Î³Nøt¡ìº¹ ëÛ¡yó¡ìº¹ ">åšàt¡ Òì¤

(A) 4 : 3

(B) 2 : 3

(C) 3 : 4

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

97. ëA¡àì>à "àÚt¡Qì>¹ Î[Ä[Òt¡ [t¡>[i¡ t¡ìº¹
ëÛ¡yó¡º ™=àyû¡ì³ x, y, z ¤K¢ &A¡A¡ Òìº,
"àÚt¡Q>[i¡¹ "àÚt¡> Q> &A¡ìA¡ Òì¤

(A) xyz

(B) xyz

(C)
xyz

2

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà

I/1-A 21 [ P.T.O.

94. The sum of the edges of a cube is
24 cm. Which one of the following is
the volume of the cube?

(A) 27 cu. cm

(B) 8 cu. cm

(C) 64 cu. cm

(D) None of the above

95. A solid iron rod of length h meters
and diameter r meters is melted into 
six equal solid iron spheres of
diameter r meters. Which one of the
following relations is correct?

(A) h r= 2

(B) h r= 4

(C) h r= 3

(D) None of the above

96. The ratio of the whole surface areas
of a hemisphere and a sphere of
same radius is

(A) 4 : 3

(B) 2 : 3

(C) 3 : 4

(D) None of the above

97. The areas of adjacent faces of a
cuboid are x, y, z square units
respectively. Then the volume of the
cuboid in cubic units is

(A) xyz

(B) xyz

(C)
xyz

2

(D) None of the above
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98. ™[ƒ A, B  &¤} C  šøìt¡¸ìA¡ &A¡à &A¡[i¡ A¡à\
™=àyû¡ì³ x, y &¤} z [ƒì> Î´šÄ A¡¹ìt¡ šàì¹, 
t¡ì¤ *Òü A¡à\[i¡ t¡à¹à &A¡ìy A¡t¡ [ƒì> Î´šÄ
A¡¹ì¤?

(A)
x y z

xyz

+ +
 [ƒì>

(B)
xy yz zx

xyz

+ +
 [ƒì>

(C)
xyz

xy yz zx+ +
 [ƒì>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

99. &A¡[i¡ >º ‡à¹à 8 [³[>ìi¡ &A¡[i¡ \ºà‹à¹ ®¡[t¢¡
ÒÚ &¤} "š¹ &A¡[i¡ >º ‡à¹à 16 [³[>ìi¡ *Òü
\ºà‹à¹[i¡ Jà[º ÒÚ¡ú ™[ƒ >º ƒå[i¡ &A¡Îàì=
ëJàºà ÒÚ, t¡ì¤ \ºà‹à¹[i¡ ®¡[t¢¡ Òìt¡ Î³Ú
ºàKì¤

(A) 12 [³[>i¡

(B) 16 [³[>i¡

(C) 10 [³[>i¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

100. ™[ƒ 150 [³i¡à¹ ƒãQ¢ &A¡[i¡ ë¹ºKàØl¡ã
12 ëÎìA¡ìr¡ &A¡[i¡ Jåò[i¡ìA¡ "[t¡yû¡³ A¡ì¹, t¡ì¤
ë¹ºKàØl¡ã[i¡¹ K[t¡ [A¡.[³./Qsi¡àÚ Òì¤

(A) 60

(B) 50

(C) 45

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà

I/1-A 22

98. If A, B  and C  alone can complete a
work in x, y and z days respectively,
then in how many days will they
complete the same work, working
together?

(A)
x y z

xyz

+ +
 days

(B)
xy yz zx

xyz

+ +
 days

(C)
xyz

xy yz zx+ +
 days

(D) None of the above

99. A tap fills a cistern in 8 minutes
and another tap empties it in
16 minutes. If both the taps are
opened, then the time taken to fill it
will be

(A) 12 minutes

(B) 16 minutes

(C) 10 minutes

(D) None of the above

100. If the length of a train is 150 meters
and it crosses a pole in 12 seconds,
then the speed of the train in km/hr 
is

(A) 60

(B) 50

(C) 45

(D) None of the above
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101. &A¡[i¡ ë>ïA¡à¹ ëÑ÷àìt¡¹ ">åAè¡ìº P  ë=ìA¡ Q

&¤} ëÑ÷àìt¡¹ šø[t¡Aè¡ìº Q  ë=ìA¡ P  ™àt¡àÚàìt¡
3 Qsi¡à ºàìK¡ú ™[ƒ [Ñ‚¹ \ìº ë>ïA¡à¹ ë¤K
4 [A¡.[³./Qsi¡à ÒÚ, t¡ì¤ P  * Q-&¹ ³‹¸¤t¢¡ã
ƒè¹Œ Òì¤

(A) 8 [A¡.[³.

(B) 6 [A¡.[³.

(C) šøƒv¡ t¡=¸ ™ì=Ê¡ >Ú

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

102. 144 Î}J¸à[i¡¹ ë³ài¡ P¡o>ãÚìA¡¹ Î}J¸à Òº

(A) 16

(B) 15

(C) 14

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

103. 7 84 7 84 2 16 2 16

7 84 2 16
0 5

× ´ × - × ´ ×

× - ×
¸ ×  &¹

Î¹ºt¡³ ³à> Òº

(A) 20

(B) 5

(C) 4

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà

I/1-A 23 [ P.T.O.

101. A boat travels from P  to Q  along the
current and Q  to P  against the
current in 3 hours. If the speed of
the boat in still water is 4 km/hr,
then the distance between P  and Q
is

(A) 8 km

(B) 6 km

(C) Data is inadequate

(D) None of the above

102. The total number of factors of the
number 144 is

(A) 16

(B) 15

(C) 14

(D) None of the above

103. The simplest value of

   
7 84 7 84 2 16 2 16

7 84 2 16
0 5

× ´ × - × ´ ×

× - ×
¸ ×

is

(A) 20

(B) 5

(C) 4

(D) None of the above
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104. 56953 Î}J¸à[i¡¹ [k¡A¡ šè¤¢¤t¢¡ã šèo¢¤K¢ Î}J¸à[i¡
Òì¤

(A) 56644

(B) 54466

(C) 56633

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

105. 63, 138 &¤} 228 ëA¡ ë™ ¤õÒv¡³ Î}J¸à [ƒìÚ 
®¡àK A¡¹ìº šø[t¡ ëÛ¡ìy &A¡Òü ®¡àKìÅÈ =àìA¡,
ëÎÒü ¤õÒv¡³ Î}J¸à[i¡ Òº

(A) 25

(B) 18

(C) 15

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

106. 1100 \> ¤àºA¡ &¤} 900 \> ¤à[ºA¡à
ëA¡àì>à &A¡[i¡ š¹ãÛ¡àÚ ¤ìÎ[áº¡ú ¤àºìA¡¹à
50% &¤} ¤à[ºA¡à¹à 40% šàÅ A¡¹ìº, *Òü
š¹ãÛ¡àÚ š¹ãÛ¡à=¢ãìƒ¹ ëó¡º A¡¹à¹ Åt¡A¡¹à Òà¹

(A) 54·5%

(B) 45%

(C) 45·5%

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

107. ™[ƒ R 4,758 A, B, C  &¤} D-&¹ ³ì‹¸
1
2
 : 1 : 1

4
 : 1

5
 ">åšàìt¡ ®¡àK A¡ì¹ ëƒ*Úà ÒÚ,

t¡àÒìº B-&¹ šøàš¸ i¡àA¡à¹ š[¹³ào Òì¤

(A) R 1,464

(B) R 2,440

(C) R 1,664

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà

I/1-A 24

104. The perfect square number just
preceeding 56953 is

(A) 56644

(B) 54466

(C) 56633

(D) None of the above

105. The greatest number by which
dividing 63, 138 and 228 leaves the
same remainder in each case is

(A) 25

(B) 18

(C) 15

(D) None of the above

106. In an examination, 1100 boys and
900 girls appeared. 50% of the boys
and 40% of the girls passed the
examination. The percentage of the
failed candidates is

(A) 54·5%

(B) 45%

(C) 45·5%

(D) None of the above

107. If a sum of R 4,758 is to be divided
among A, B , C  and D in the ratio
1
2
 : 1 : 1

4
 : 1

5
, then the share of B  is

(A) R 1,464

(B) R 2,440

(C) R 1,664

(D) None of the above
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108. šòàW¡[i¡ ó¡ºàó¡ìº¹ KØl¡ ³à> 10. &ìƒ¹ šø=³ ƒå[i¡¹ 
KØl¡ ³à> 7 &¤} ëÅÈ ƒå[i¡¹ KØl¡ ³à> 13 Òìº,
tõ¡t¡ãÚ[i¡¹ ³à> Òì¤

(A) 8

(B) 10

(C) 12

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

109. ¹à³[A¡Èào &A¡[i¡ ‰¤¸ [¤[yû¡ A¡ì¹ 6% ºà®¡
A¡ì¹¡ú ‰¤¸[i¡ ™[ƒ ëÎ "à¹* R 200 ë¤Åã ³èìº¸
[¤[yû¡ A¡¹ìt¡ šà¹t¡, t¡ì¤ t¡à¹ 10% ºà®¡ Òt¡¡ú
t¡àÒìº ‰¤¸[i¡¹ yû¡Ú³èº¸ Òì¤

(A) R 5,000

(B) R 4,500

(C) R 5,500

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

110. [¤ìÚ¹ Î³Ú &A¡ ¤¸[v¡û¡¹ ¤ÚÎ t¡à¹ Ñ|ã-&¹
¤ÚìÎ¹ ëW¡ìÚ 6 ¤á¹ ë¤Åã [áº, [A¡”ñ [¤ìÚ¹
12 ¤á¹ š¹ *Òü ¤¸[v¡û¡¹ ¤ÚÎ t¡à¹ Ñ|ã-&¹
¤ÚìÎ¹ 6

5
 P¡o Òº¡ú [¤ìÚ¹ Î³Ú t¡àìƒ¹ ¤ÚÎ

[áº

(A) 25 ¤á¹ &¤} 19 ¤á¹

(B) 26 ¤á¹ &¤} 20 ¤á¹

(C) 24 ¤á¹ &¤} 18 ¤á¹

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà

I/1-A 25 [ P.T.O.

108. The average of five results is 10. The
average of the first two is 7 and that
of the last two is 13. The third result 
is

(A) 8

(B) 10

(C) 12

(D) None of the above

109. Ramkishan sells an article at a
profit of 6%. If he sells it for R 200
more, there would be a profit of
10%. Then the cost price of the
article is

(A) R 5,000

(B) R 4,500

(C) R 5,500

(D) None of the above

110. At the time of marriage, a man
was 6 years elder to his wife, but
12 years after the marriage, his age

was 6
5
 times the age of his wife. Then 

their ages at the time of marriage
were

(A) 25 years and 19 years

(B) 26 years and 20 years

(C) 24 years and 18 years

(D) None of the above
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111. 1 K¸àº> \ìº¹ *\> 10 šàl¡ür¡ &¤} 1 [ºi¡à¹ 
\ìº¹ *\> 1 [A¡ìºàNøà³¡ú ™[ƒ 1 [A¡ìºàNøà³
2·2046 šàl¡üìr¡¹ Î³à> ÒÚ, t¡ì¤ 1 K¸àºì>¹
³à> Òì¤

(A) 3·5659 [ºi¡à¹

(B) 4·5359 [ºi¡à¹

(C) 5·6359 [ºi¡à¹

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

112. ëA¡àì>à ¤K¢àA¡à¹ ëÛ¡ìy¹ ¤à×¹ š[¹³àš [‡P¡o
A¡¹ìº, &¹ ëÛ¡yó¡ìº¹ Åt¡A¡¹à ¤õ[‡ý¡ Òì¤

(A) 200%

(B) 300%

(C) 400%

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

113. 0 49 0 0256

0 0064 6 25

× ´ ×

× ´ ×
 &¹ ³à> Òì¤

(A) 0·32

(B) 2·8

(C) 0·56

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

114. [t¡> "}ìA¡¹ Ûå¡‰t¡³ ë³ï[ºA¡ Î}J¸à * ƒåÒü
"}ìA¡¹ ¤õÒv¡³ ë³ï[ºA¡ Î}J¸à¹ "”z¹ Òìºà

(A) 2

(B) 3

(C) 4

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà

I/1-A 26

111. The weight of 1 gallon water is
10 pounds and the weight of 1 litre
of water is 1 kilogram. If 1 kilogram
is equal to 2·2046 pounds, then
1 gallon will be equal to

(A) 3·5659 litres

(B) 4·5359 litres

(C) 5·6359 litres

(D) None of the above

112. The percentage increase in the area
of a square, if its sides are made
twice, is

(A) 200%

(B) 300%

(C) 400%

(D) None of the above

113. The value of

   
0 49 0 0256

0 0064 6 25

× ´ ×

× ´ ×
   

is

(A) 0·32

(B) 2·8

(C) 0·56

(D) None of the above

114. The difference between the smallest
three-digit prime number and the
greatest two-digit prime number is

(A) 2

(B) 3

(C) 4

(D) None of the above
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115. K[oìt¡ Î³Î¸à Î³à‹à> š‡ý¡[t¡ ë™ ëÅøoã¹ \>¸
ë¤Åã l¡üšì™àKã t¡à Òº

(A) še¡³ ëÅøoã

(B) W¡tå¡=¢ ëÅøoã

(C) tõ¡t¡ãÚ ëÅøoã

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

116. ëA¡àì>à Kà[o[t¡A¡ [>Ú³ ¤à Îèy ³ì> A¡¹ài¡à ë™
l¡üì„ìÅ¸¹ ³ì‹¸ šìØl¡ t¡à Òº

(A) ƒÛ¡t¡à³èºA¡

(B) šøìÚàK³èºA¡

(C) `¡à>³èºA¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

117. ‘‘Math e mat ics is the lan guage

in which God has writ ten the

uni verse.’’  l¡ü[v¡û¡[i¡

(A) šã=àìKà¹àìÎ¹

(B) K¸à[º[º*¹

(C) "à[A¢¡[³[l¡ìÎ¹

(D) l¡üšì¹¹ ëA¡l¡üÒü >>

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà

I/1-A 27 [ P.T.O.

115. The problem-solving method in
Mathematics is more effective for

(A) Class V

(B) Class IV

(C) Class III

(D) None of the above

116. Memorising a rule or a formula is an 
objective which is

(A) skill-based

(B) application-based

(C) knowledge-based

(D) None of the above

117. ‘‘Mathematics is the language
in which God has written the
universe.’’ The statement is quoted
by

(A) Pythagoras

(B) Galileo

(C) Archimedes

(D) None of them
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118. Î[yû¡Út¡à[®¡[v¡A¡ [ÅÛ¡à ³àì>

(A) ">åÅãºì>¹ ³à‹¸ì³ [ÅÛ¡à

(B) W¡W¢¡à A¡¹à¹ ³à‹¸ì³ [ÅÛ¡à

(C) A¡àì\¹ ³à‹¸ì³ [ÅÛ¡à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

119. ">åÎÞê¡à>³èºA¡ [ÅÛ¡àƒà> š‡ý¡[t¡¹ \>A¡ Òìº>

(A) Òà¤¢ài¢¡

(B) ¤øå>à¹

(C) &ÒüW¡. Òü. "à³¢Ð¡ö}

(D) l¡üšì¹¹ ëA¡l¡üÒü >>

120. [šÚàìKìi¡¹ t¡wà>åÎàì¹ ³èt¢¡ [yû¡ÚàÅãº Ñzì¹¹
¤Ú@Îã³à Òº

(A) 2–4 ¤á¹

(B) 4–7 ¤á¹

(C) 7–11 ¤á¹

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà

I/1-A 28

118. Activity-based learning means

(A) learning through exercise

(B) learning through practice

(C) learning by doing

(D) None of the above

119. The founder of the heuristic method
of teaching is

(A) Herbert

(B) Bruner

(C) H. E. Armstrong

(D) None of them

120. According to Piaget theory, the age
limit for concrete operational stage
is

(A) 2–4 years

(B) 4–7 years

(C) 7–11 years

(D) None of the above
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PART—V / ®¡àKççV

ENVIRONMENTAL STUDIES / š[¹ì¤Å[¤ƒ¸à

I/1-A 29 [ P.T.O.

Directions : Answer the following questions

by selecting the correct option.

121. Which of the following is a

decomposer?

(A) Ant

(B) Fungus

(C) Fly

(D) Grasshopper

122. Which of the following is a correct

sequence?

(A) Producer ® Consumer ®

Decomposer

(B) Consumer ® Decomposer ®

Producer

(C) Producer ® Decomposer ®

Consumer

(D) Decomposer ® Consumer ®

Producer

123. How many reserve forests are

located in Tripura?

(A) 4

(B) 8

(C) 6

(D) None of the above

124. In the atmosphere, highest amount

of ozone gas is present in

(A) Troposphere

(B) Mesosphere

(C) Stratosphere

(D) Thermosphere

125. Which of the following rivers in

Tripura flows from East to West?

(A) Haora

(B) Manu

(C) Khowai

(D) Dhalai

[>ìƒ¢[ÅA¡à : Î[k¡A¡ l¡üv¡¹ [>¤¢àW¡> A¡ì¹ >ãìW¡¹ šøÅ—P¡[º¹
l¡üv¡¹ ƒà*¡ú

121. [>³—[º[Jt¡ ëA¡à>[i¡ìA¡ [¤ìÚà\A¡ ¤ºà ÒÚ?

(A) {ššØl¡à

(B) áyàA¡

(C) ³à[á

(D) QàÎ ó¡[Øl¡}

122. [>³—[º[Jt¡ ëA¡à>[i¡ Î[k¡A¡ yû¡³?

(A) l¡ü;šàƒA¡ ® JàƒA¡ ® [¤ìÚà\A¡

(B) JàƒA¡ ® [¤ìÚà\A¡ ® l¡ü;šàƒA¡

(C) l¡ü;šàƒA¡ ® [¤ìÚà\A¡ ® JàƒA¡

(D) [¤ìÚà\A¡ ® JàƒA¡ ® l¡ü;šàƒA¡

123. [yšå¹àìt¡ "®¡Úà¹ìo¸¹ Î}J¸à Òº

(A) 4[i¡

(B) 8[i¡

(C) 6[i¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

124. ¤àÚå³r¡ìº Îì¤¢àZW¡ š[¹³ào *ì\à> K¸àÎ "àìá

(A) i¡öìšà[Ñ£¡Úàì¹

(B) ë³ìÎà[Ñ£¡Úàì¹

(C) Ê¡ö¸àìi¡à[Ñ£¡Úàì¹

(D) =àì³¢à[Ñ£¡Úàì¹

125. [yšå¹à¹ ëA¡à>ô >ƒã[i¡ šè¤¢ ë=ìA¡ š[ÆW¡³ [ƒìA¡
šø¤à[Òt¡ ÒÚ?

(A) Òà*Øl¡à

(B) ³>å

(C) ëJàÚàÒü

(D) ‹ºàÒü
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126. Air pollution can be prevented by

(A) planting of green trees

(B) filtering industrial smoke

(C) establishing hydroelectric power 

plant in place of thermal power

station

(D) All of the above

127. Which of the following is/are the

source(s) of soil pollution?

(A) Solid waste

(B) Pesticides and chemical

fertilizers

(C) Effluent and sewage

(D) All of the above

128. Which of the following diseases is

not caused by mosquitoes?

(A) Dengue

(B) Malaria

(C) Filaria

(D) Plague

129. The main source of energy in

biosphere is

(A) respiration

(B) photosynthesis

(C) sunlight

(D) carbohydrate

130. Which of the following is not a fossil

fuel?

(A) Natural gas

(B) Petroleum

(C) Coal

(D) Uranium

126. [>³—[º[Jt¡ ëA¡à>ô l¡üšàìÚ ¤àÚåƒèÈo ë¹à‹ A¡¹à ™àÚ?

(A) Î¤å\ l¡ü[Š±ƒ ¤š> A¡ì¹

(B) A¡ºA¡à¹Jà>à¹ ë‹òàÚà ëÅà‹> A¡ì¹

(C) t¡àš[¤ƒå¸; šøA¡ì¿¹ š[¹¤ìt¢¡ \º[¤ƒå¸;
šøA¡¿ ít¡¹ã A¡ì¹

(D) l¡üšì¹¹ Î¤A¡Ú[i¡

127. [>³—[º[Jt¡ ëA¡à>[i¡/ëA¡à>P¡[º ³õ[v¡A¡à ƒèÈìo¹
l¡ü;Î?

(A) A¡[k¡> ¤\¢¸ šƒà=¢

(B) A¡ãi¡>àÅA¡ &¤} ¹àÎàÚ[>A¡ Îà¹

(C) A¡ºA¡à¹Jà>à¹ t¡¹º ¤\¢̧  &¤} >àºà->ƒ¢³à¹ 
\º

(D) l¡üšì¹¹ Î¤A¡Ú[i¡

128. [>³—[º[Jt¡ ëA¡à>ô ë¹àK[i¡ ³ÅA¡¤à[Òt¡ >Ú?

(A) ël¡Uå

(B) ³¸àìº[¹Úà

(C) ó¡àÒüìº[¹Úà

(D) ëšÃK

129. \ã¤³r¡ìº Å[v¡û¡¹ ³èº l¡ü;Î Òº

(A) Å«Î>

(B) ÎàìºàA¡Î}ìÅÃÈ

(C) Îè™¢àìºàA¡

(D) ÅA¢¡¹à

130. [>³—[º[Jt¡ ëA¡à>[i¡ \ã¤àÆµQ[i¡t¡ aàºà>ã >Ú?

(A) šøàAõ¡[t¡A¡ K¸àÎ

(B) ëšìi¡öà[ºÚà³

(C) A¡Úºà

(D) Òül¡üì¹[>Úà³
https://www.freshersnow.com/previous-year-question-papers/



I/1-A 31 [ P.T.O.

131. Water holding capacity is highest in

(A) sandy soil

(B) loamy soil

(C) clay soil

(D) None of the above

132. The fertilizer produced by the

earthworm is called

(A) biofertilizer

(B) vermicompost

(C) nitrogen fertilizer

(D) None of the above

133. Which of the following is a

renewable resource?

(A) Solar energy

(B) Natural gas

(C) Coal

(D) Mineral

134. Increase in carbon monoxide in air

affects

(A) digestive system

(B) excretory system

(C) respiratory system

(D) nervous system

135. Energy flow in ecosystem is

(A) unidirectional

(B) multidirectional

(C) bidirectional

(D) None of the above

131. \º‹à¹o Û¡³t¡à Îì¤¢àZW¡ Òº

(A) ë¤ìº ³à[i¡ìt¡

(B) ëƒòàÚàÅ ³à[i¡ìt¡

(C) &òìi¡º ³à[i¡ìt¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

132. ëAò¡ìW¡à¹ ÎÒàÚt¡àÚ ë™ Îà¹ ít¡¹ã ÒÚ t¡àìA¡
¤ºà ÒÚ

(A) ¤àìÚàó¡à[i¢¡ºàÒü\à¹

(B) ®¡à[³¢A¡ì´šàÊ¡

(C) >àÒüìi¡öàì\> ó¡à[i¢¡ºàÒü\à¹

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

133. [>³—[º[Jt¡ ëA¡à>[i¡ šå>>¢¤ãA¡¹oì™àK¸ Å[v¡û¡¹
l¡ü;Î?

(A) ëÎï¹Å[v¡û¡

(B) šøàAõ¡[t¡A¡ K¸àÎ

(C) A¡Úºà

(D) J[>\ šƒà=¢

134. ¤àÚåìt¡ A¡à¤¢> ³ì>à"GàÒül¡ K¸àìÎ¹ ¤õ[‡ý¡
Û¡[t¡Îà‹> A¡ì¹

(A) š[¹šàA¡t¡ì”|¹

(B) ë¹W¡>t¡ì”|¹

(C) Å«Î>t¡ì”|¹

(D) Ñ•àÚåt¡ì”|¹

135. ¤àÑñt¡ì”| Å[v¡û¡šø¤àÒ Òº

(A) &A¡³åJã

(B) ¤×³åJã

(C) [‡³åJã

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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136. World Environment Day is observed

on

(A) 1st December

(B) 26th January

(C) 28th February

(D) None of the above

137. Which of the following is the longest

hill range of Tripura?

(A) Baramura-Deotamura range

(B) Longtarai range

(C) Atharamura range

(D) Sakhantlang range

138. The total number of Subdivisions in

Tripura is

(A) 24

(B) 23

(C) 22

(D) 20

139. Amoebiasis is caused by

(A) air pollution

(B) water pollution

(C) soil pollution

(D) None of the above

140. Environmental education is impor-

tant only at

(A) primary school stage

(B) secondary school stage

(C) undergraduate stage

(D) All of the above

136. [¤Å« š[¹ì¤Å [ƒ¤Î šà[ºt¡ ÒÚ

(A) 1ºà [l¡ìÎ´¬¹

(B) 26ëÅ \à>åÚà¹ã

(C) 28ëÅ ëó¡¤øåÚà¹ã

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

137. [>³—[º[Jt¡ ëA¡à>[i¡ [yšå¹à¹ ƒãQ¢t¡³ š¤¢t¡³àºà?

(A) ¤Øl¡³åØl¡à-ëƒ*t¡à³åØl¡à š¤¢t¡³àºà

(B) ºR¡t¡¹àÒü š¤¢t¡³àºà

(C) "àk¡à¹³åØl¡à š¤¢t¡³àºà

(D) ÎàJà”zºàR¡ š¤¢t¡³àºà

138. [yšå¹àìt¡ ë³ài¡ ³ÒAå¡³à¹ Î}J¸à Òº

(A) 24[i¡

(B) 23[i¡

(C) 22[i¡

(D) 20[i¡

139. "à³àÅìÚ¹ A¡à¹o Òº

(A) ¤àÚåƒèÈo

(B) \ºƒèÈo

(C) ³õ[v¡A¡à ƒèÈo

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

140. š[¹ì¤Å[¤ƒ¸à šk¡>-šàk¡> P¡¹ç¡Œšèo¢ Ç¡‹å³ày

(A) šøà=[³A¡ [¤ƒ¸àºÚ Ñzì¹

(B) ³à‹¸[³A¡ [¤ƒ¸àºÚ Ñzì¹

(C) Ñ•àt¡A¡ Ñzì¹

(D) l¡üšì¹¹ Î¤A¡Ú[i¡
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141. Which of the following is a

biodegradable waste?

(A) Plastic

(B) Polythene

(C) Glass

(D) None of the above

142. Which of the following is called the

powerhouse of the cell?

(A) Lysosome

(B) Golgi body

(C) Ribosome

(D) Mitochondrion

143. Which of the following are the

sources of fats?

(A) Oil, ghee, butter

(B) Eggs

(C) Rice, wheat, potatoes

(D) Iron, calcium

144. Which of the following food items

does/do not provide dietary fibre?

(A) Whole grain

(B) Pulses

(C) Fruits and vegetables

(D) Milk

145. The greenhouse effect which is

causing an increase in the

atmospheric temperature is mainly

due to

(A) oxygen

(B) nitrogen

(C) carbon dioxide

(D) sulphur

141. [>³—[º[Jt¡ ëA¡à>[i¡ šW¡>Åãº ¤\¢¸?

(A) šÃà[Ð¡A¡

(B) š[º[=>

(C) Aò¡àW¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

142. ëA¡àìÈ¹ Å[v¡û¡Q¹ ¤ºà ÒÚ ëA¡à>[i¡ìA¡?

(A) ºàÒüìÎàì\à³

(B) Kº[K ¤[l¡

(C) ¹àÒüì¤àì\à³

(D) ³àÒüìi¡àA¡[“¡öÚà

143. [>³—[º[Jt¡ ëA¡à>P¡[º ëÑ•Ò\àt¡ãÚ šƒàì=¢¹ l¡ü;Î?

(A) ët¡º, [Q, ³àJ>

(B) [l¡³

(C) W¡àº, K³, "àºå

(D) ëºàÒà, A¡¸àº[ÎÚà³

144. [>³—[º[Jt¡ ëA¡à>ô Jàƒ¸[i¡ìt¡ Jàƒ¸\àt¡ãÚ t¡”ñ
=àìA¡ >à?

(A) ƒà>à ÅÎ¸

(B) l¡àº

(C) ó¡º * Î¤ô[\

(D) ƒå‹

145. Nøã>Òàl¡üÎ &ìó¡C¡ ™à [A¡>à ¤àÚå³r¡ìº¹ t¡àš³àyà
yû¡³Å ¤à[Øl¡ìÚ tå¡ºìá t¡à¹ \>¸ ƒàÚã ³èºt¡

(A) "[Gì\>

(B) >àÒüìi¡öàì\>

(C) A¡à¤¢> l¡àÒü"GàÒül¡

(D) Îàºó¡à¹
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146. One-horned rhinoceros are found in

which of the following States?

(A) Gujarat

(B) Assam

(C) Karnataka

(D) Madhya Pradesh

147. The lowest layer of atmosphere is

called

(A) Thermosphere

(B) Troposphere

(C) Mesosphere

(D) Ionosphere

148. Area of land, water and air where

the life exists is called

(A) Biosphere

(B) Lithosphere

(C) Hydrosphere

(D) Atmosphere

149. Which of the following is not a

function of the roots?

(A) Anchoring of plant

(B) Absorption of water

(C) Absorption of mineral salt

(D) Preparation of starch

150. The leaves are usually spine like in

(A) terrestrial plants

(B) aquatic plants

(C) desert plants

(D) None of the above

146. &A¡-ÅõU Kr¡à¹ [>³—[º[Jt¡ ëA¡à>ô ¹àì\¸ ëƒJà
™àÚ?

(A) P¡\¹ài¡

(B) "àÎà³

(C) A¡o¢ài¡A¡

(D) ³‹¸šøìƒÅ

147. ¤àÚå³r¡ìº¹ Î¤¢[>³— Ñz¹ìA¡ ¤ºà ÒÚ

(A) =àì³¢à[Ñ£¡Úà¹

(B) i¡öìšà[Ñ£¡Úà¹

(C) ë³ìÎà[Ñ£¡Úà¹

(D) "àÚì>à[Ñ£¡Úà¹

148. Ñ‚º, \º * ¤àÚå³r¡ìº¹ ë™ "}ìÅ šøàìo¹ "[ÑzŒ
ëƒJà ™àÚ t¡àìA¡ ¤ºà ÒÚ

(A) \ã¤³r¡º

(B) "Æµ³r¡º

(C) \º³r¡º

(D) ¤àÚå³r¡º

149. [>³—[º[Jt¡ ëA¡à>[i¡ Kàìá¹ [ÅA¡ìØl¡¹ A¡à\ >Ú?

(A) KàáìA¡ ‹ì¹ ¹àJà

(B) \º ëÅàÈo A¡¹à

(C) J[>\ º¤o ëÅàÈo A¡¹à

(D) Ð¡àW¢¡ šøÑñt¡ A¡¹à

150. šàt¡àP¡[º A¡si¡ìA¡¹ ³ìt¡à ëƒJà ™àÚ Îà‹à¹ot¡

(A) Ñ‚º\ l¡ü[Š±ìƒ

(B) \º\ l¡ü[Š±ìƒ

(C) ³¹ç¡®è¡[³¹ l¡ü[Š±ìƒ

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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READ THE FOL LOW ING IN STRUC TIONS CARE FULLY :  

[>³—[º[Jt¡ [>ìƒ¢Åà¤ºã ®¡àìºà A¡ì¹ šØl¡æ> :
1. Out of the four alternatives for each question, only one circle for the correct answer is to be darkened

completely with Black Ballpoint Pen on the OMR Answer Sheet. The answer once marked is not liable to be
changed.

šø[t¡[i¡ šøìÅ—¹ l¡üv¡¹ [ÒÎàì¤ ë™ W¡à¹[i¡ [¤A¡¿ ëƒ*Úà "àìá t¡à ë=ìA¡ Ç¡‹å³ày Ç¡‡ý¡ l¡üv¡¹[i¡¹ ëšø[Û¡ìt¡ OMR l¡üv¡¹šìy ëƒ*Úà ¤õv¡[i¡ A¡àìºà ¤ºšìÚ–i¡ A¡º³ 
‡à¹à Î´šèo¢¹ê¡ìš A¡àìºà A¡ì¹ [W¡[Òû¡t¡ A¡¹ìt¡ Òì¤¡ú &A¡¤à¹ l¡üv¡¹ [W¡[Òû¡t¡ A¡¹à ÒìÚ ëKìº t¡àìA¡ "à¹ š[¹¤t¢¡> A¡¹à ™àì¤ >à¡ú

2. The candidates should ensure that the Answer Sheet is not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except at the specified space on the OMR Answer Sheet.

š¹ãÛ¡à=¢ã¹à ëA¡àì>à®¡àì¤Òü OMR l¡üv¡¹šy[i¡ ®ò¡à\ A¡¹ì¤> >à¡ú OMR l¡üv¡¹šìy ëA¡àì>à¹A¡³ ƒàK A¡ài¡à ¤à ³”z¤¸ ëºJà ™àì¤ >à¡ú š¹ãÛ¡à=¢ã¹à tò¡àìƒ¹
ë¹àº >à´¬à¹ l¡üv¡¹šìy [>[ƒ¢Ê¡ A¡¹à \àÚKà áàØl¡à ">¸ ëA¡àì>à \àÚKàÚ [ºJì¤> >à¡ú

3. Handle the Question Booklet and Answer Sheet with utmost care, as under no circumstances (except
technical defect), another set of Question Booklet and OMR Answer Sheet will be provided.

OMR l¡üv¡¹šy &¤} šøÅ—šìy¹ ¤¸¤Òàì¹ Îà[¤¢A¡ Ît¡A¢¡t¡à "¤º ¬́> A¡¹ìt¡ Òì¤¡ú ëA¡àì>à "¤Ñ‚àìt¡Òü (³å‰o yç¡[i¡ * š‡ý¡[t¡Kt¡ yç¡[i¡ áàØl¡à) OMR l¡üv¡¹šy
* šøÅ—šy šàìÂi¡ ëƒ*Úà ™àì¤ >à¡ú

4. The candidates will write the correct Question Booklet Number and OMR Answer Sheet Number in the
Attendance Sheet.

š¹ãÛ¡à=¢ãìA¡ "¸àìi¡ì“¡X Åãi¡-& tò¡à¹  OMR l¡üv¡¹šìy¹ >à´¬à¹ &¤} šøÅ—šìy¹ >à´¬à¹ [>®å¢¡º®¡àì¤ [ºJìt¡ Òì¤¡ú
5. Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile

phone, electronic devices or any other material except the Admit Card and Photo Identity Card inside the
Examination Hall/Room.

š¹ãÛ¡à=¢ãìA¡ "¸àl¡[³i¡ A¡àl¢¡ &¤} ó¡ìi¡à "àÒüìl¡>[i¡[i¡ A¡àl¢¡ áàØl¡à ">¸ ëA¡àì>à áàšàì>à ¤à ëºJà A¡àK\, šk¡> * ³å‰o\àt¡ Îà³Nøã, ëš\à¹, ë³à¤àÒüº ëó¡à>,
">¸ ëA¡àì>à¹A¡³ ÒüìºC¡ö[>A¡ [l¡®¡àÒüÎ [>ìÚ š¹ãÛ¡à Òìº/A¡ìÛ¡ šøì¤Å A¡¹ìt¡ ëƒ*Úà Òì¤ >à¡ú

6. Each candidate must show on demand his/her Admit Card and Photo Identity Card to the
Invigilator/Examination Officials.

š¹ãÛ¡à Òìº Òü>[®¡[\ìºi¡¹ A¡tõ¢¡A¡ [A¡}¤à š¹ãÛ¡à ëA¡ì–ƒø¹ [®¡t¡ì¹ š¹ãÛ¡à-Î}[ÅÃÊ¡ "à[‹A¡à[¹A¡ A¡tõ¢¡A¡ ƒà[¤ A¡¹à Òìº šøìt¡¸A¡ š¹ãÛ¡à=¢ã tò¡à¹ "¸àl¡[³i¡ A¡àl¢¡ *
ó¡ìi¡à "àÒüìl¡>[i¡[i¡ A¡àl¢¡ ëƒJàìt¡ ¤à‹¸ =àA¡ì¤>¡ú

7. No candidate, without special permission of the Centre Superintendent or Invigilator, should change his/her 
seat.

ëÎ–i¡à¹ Îåšà[¹>ìi¡>ìl¡–i¡ ¤à Òü>[®¡[\ìºi¡¹-&¹ [¤ìÅÈ ">å³[t¡ áàØl¡à š¹ãÛ¡à=¢ã š¹ãÛ¡à Òìº tò¡à¹ ¤Îà¹ Ñ‚à> š[¹¤t¢¡> A¡¹ìt¡ šà¹ì¤> >à¡ú
8. Candidates will have to sign twice in the Attendance Sheet presented by the Invigilator on duty; first after

taking their seats in the Examination Hall/Room and second at the time of handing over their OMR Answer
Sheet to the Invigilator.

š¹ãÛ¡à=¢ã[ƒKìA¡ Òü>[®¡[\ìºi¡ì¹¹ ëƒ*Úà "¸àìi¡ì“¡X Åãi¡-& ƒåÒü¤à¹ Ñ¬àÛ¡¹ A¡¹ìt¡ Òì¤, šø=³¤à¹ š¹ãÛ¡à Òìº tò¡àìƒ¹ "àÎ> NøÒìo¹ š¹ &¤} [‡t¡ãÚ¤à¹

Òü>[®¡[\ìºi¡ì¹¹ [>A¡i¡ OMR l¡üv¡¹šy \³à ëƒ*Úà¹ Î³ìÚ¡ú
9. The candidates should not leave the Examination Hall/Room without handing over their OMR Answer Sheet

to the Invigilator on duty and without signing the Attendance Sheet twice. Cases where a candidate has not
signed the Attendance Sheet a second time will be deemed not to have handed over the Answer Sheet and
dealt with as an unfair means case.

"¸àìi¡ì“¡X Åãi¡-& ƒåÒü¤à¹ Ñ¬àÛ¡¹ A¡¹à &¤} A¡t¢¡¤¸¹t¡ Òü>[®¡[\ìºi¡¹-&¹ [>A¡i¡ l¡üv¡¹šy \³à ëƒ*Úà ¤¸t¡ãt¡ ëA¡àì>à š¹ãÛ¡à=¢ã š¹ãÛ¡à Òº t¡¸àK A¡¹ìt¡

šà¹ì¤> >à¡ú ™[ƒ ëA¡àì>à š¹ãÛ¡à=¢ã "¸àìi¡ì“¡X Åãi¡-& ƒåÒü¤à¹ Ñ¬àÛ¡¹ >à A¡ì¹> t¡ì¤ [t¡[> tò¡à¹ OMR l¡üv¡¹šy \³à A¡ì¹>[> ¤ìº Ko¸ Òì¤ &¤} t¡à
">å[W¡t¡ A¡à™¢ [ÒÎàì¤ ‹¹à Òì¤¡ú

10. Use of any type of calculating device is prohibited.

ë™ ëA¡àì>à ‹¹ì>¹ A¡¸àºAå¡ìºi¡ì¹¹ ¤¸¤Òà¹ Î´šèo¢¹ê¡ìš [>[È‡ý¡¡ú
11. The candidates are governed by all the rules and regulations of the Board with regard to their conduct in the

Examination Hall/Room. All cases of unfair means will be dealt with as per rules and regulations of the
Board.

š¹ãÛ¡à Òº/A¡ìÛ¡¹ ³ì‹¸ š¹ãÛ¡à=¢ã¹ "àW¡¹o ë¤àìl¢¡¹ [>Ú³ * [>ìƒ¢[ÅA¡à ">å™àÚã W¡à[ºt¡ Òì¤¡ú Î¤ ‹¹ì>¹ ">å[W¡t¡ A¡à™¢ ë¤àìl¢¡¹ [>Ú³ * [>ìƒ¢[ÅA¡à
">å™àÚã [>[ƒ¢Ê¡ Òì¤¡ú

12. No part of the Question Booklet and OMR Answer Sheet shall be detached under any circumstances.

ëA¡àì>à "¤Ñ‚àìt¡Òü šøÅ—šy &¤} OMR  l¡üv¡¹šìy¹ ëA¡àì>à "}Å ëáòØl¡à ¤à "àºàƒà A¡¹à ™àì¤ >à¡ú
13. On completion of the test, the candidate must hand over the OMR Answer Sheet to the Invigilator in the

Hall/Room. The candidates are allowed to take away the Question Booklet with them.

š¹ãÛ¡à ëÅÈ Ò*Úà¹ šì¹ š¹ãÛ¡à=¢ã "¤Å¸Òü tò¡à¹  OMR l¡üv¡¹šy A¡t¢¡¤¸¹t¡ Òü>[®¡[\ìºi¡ì¹¹ A¡àìá \³à ëƒì¤>¡ú š¹ãÛ¡à=¢ã¹à šøÅ—šy[i¡ tò¡àìƒ¹ Îàì=
[>ìÚ ë™ìt¡ šàì¹>¡ú
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